65404955 - EVM 32-2 RLE CD-ID: Narex CZ 2018 _v20r01

R é T

35 36 _ <ﬁ/ﬁ‘® ’Ig

L
N RIS
0

15.11.2018 Strana 1z 6



CD-ID: Narex CZ 2018_v20r01

65404955 - EVM 32-2 RLE

Strana3z6

15.11.2018



65404955 - EVM 32-2 RLE

CD-ID: Narex CZ 2018_v20r01

Pozice |Polozka Mn. |Nazev Typ Poznamka :oﬁ:;o;ll(';i
1| 65403849 6 | Sroub M6x16 DIN 912
2 65403848 2 | Kolik 6mx6x10
3 65403850 9 | Pruzna podlozka 6,1
4 65403851 1|Sané
5 65403854 1| Ozubena ty¢
6 65403852 2 | Prlichodka PG9
7 65403853 1| Ochrana kabelu 440mm
8| 65403857 1| Sroub M6x16 1SO 7047
9 65403858 1| Podlozka D35
10 65403859 2 | Pouzdro
11 65403862 3| Sroub M5x12
12 614468 3 | Matice M5 1SO 4032 616664
13 65403863 1|Zeméni
14 65403860 8 | Sroub M6x25
15 65403861 8| Podlozka 6,4
16 65403864 1| Vodici lista leva
17 65403865 1| Vodici lista prava
18 65403866 1| Skrin
19 614463 3| Sroub M6x20 761451
20 65403875 1| Magnet 3N
21 65403867 3 | Paka
22 65403868 1| Ozubena hfidel
23 65403869 1 | Elektronika
24 65403870 1| Kryci plech zadni
25 614321 4 | Sroub M4x8 PZV DIN 7985 614419
26 65403872 1| Spinac¢ motoru EVM 32
27 65403871 1| Spina¢ magnetu EVM 32
28 65403856 1| Navlacka PG11
29| 65403855 1 | Pohybl.pfivod
30 65403874 1| Pfichyt.kabelu
31 65403873 1| Kryci plech bocni
35| 65405096 2 | Sroub 6204 2 RS
36 65404623 1| Drzék nadrzky 6204 2 RS
37 65405149 1| Spina¢ magnetu 6204 2 RS
51 65405097 1| Kapota 6204 2 RS
52| 65403846 4| Sroub 4.8x45
53 65405124 1 | Rotor 6204 2 RS
54 66623708 1| LoZisko 608 T1X ZZ1 MC5 E 614996
55 65403834 1| Pojist.krouzek
56 65403844 2 | Drzak kartace EVM 32
57 65403843 2 | Kartace sada EVM 32
58 65405099 4 | Podlozka 6204 2 RS
59 65405100 4 | Sroub 6204 2 RS
15.11.2018 Strana4z6



65404955 - EVM 32-2 RLE

CD-ID: Narex CZ 2018_v20r01

Pozice |Polozka Mn. |Nazev Typ Poznamka :oﬁ:;o;ll(';i
60 65405125 Vyrovnavaci podlozka 6204 2 RS
61 65405101 Pojist.krouzek 6204 2 RS
62 65403839 O-krouzek 22x2,5
63 65405126 Tachokrouzek 6204 2 RS
64 66615149 Lozisko 6001 DDU AS2 S2
65 65405103 LoZiskové viko 6204 2 RS
66 65405127 Prevodova skfin 6204 2 RS
67 65405105 Motorové kolo 6204 2 RS
68 65405106 Predloha 6204 2 RS
69| 65405107 Razeni kompl. 6204 2 RS
70 65405108 Kulisa 6204 2 RS
71 66632815 Lozisko 6203 LLU V C3 V2 L39-4
72 65405128 Lozisko 6204 2 RS
73 65405129 Vieteno 6204 2 RS
74 65405114 Pero 6204 2 RS
75 65405113 Vretenové kolo 6204 2 RS
76 65405116 Pojist.krouzek 6204 2 RS
77 65405115 Vymezovaci podlozka 6204 2 RS
78 65405117 Pastorek 6204 2 RS
79 65405119 Pero 6204 2 RS
80 65405118 Dvoukolo 6204 2 RS
81 66614934 Jehlové pouzdro HK 0810
82 65405110 Tésnéni prevodovky 6204 2 RS
83| 65405102 Sroub 6204 2 RS
84 65403831 Kolik 4x12
85 65405123 Motorova skfin 6204 2 RS
86 65405121 Sroub 6204 2 RS
87 65405130 Stator 6204 2 RS
88 65405120 Vzduchovodna vlozka 6204 2 RS
89 65405131 Elektronika 6204 2 RS
90 65405132 Sroub 6204 2 RS
92 65405111 Mazaci komora 6204 2 RS
94 65405133 Tésnici krouzek 6204 2 RS
95 65405134 Tésnici krouzek 6204 2 RS
96 65403822 Sroub M8x8 DIN 913
97 65403821 Pruzina
98 65403820 Doraz
99 65403819 O-krouzek 19x11x1,5
100 65403818 Podlozka
101 65403817 Pojist.krouzek JK 19/1
102 65405135 Pojistny krouzek 6204 2 RS
103 65403826 Pripojka
104 65405136 Vypln 6204 2 RS
15.11.2018 Strana5z6



65404955 - EVM 32-2 RLE CD-ID: Narex CZ 2018 _v20r01

Pozice |Polozka Mn. |Nazev Typ Poznamka :oﬁ:;o;ll(';i
105 65405137 1| Potenciometr 6204 2 RS
106 65405138 1| Otocny knoflik 6204 2 RS
107 65405139 2 | Sroub 6204 2 RS
108 65405140 1| Krytka pripojky 6204 2 RS

15.11.2018 Strana 6z 6





